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6. xBEDRR

MEEBEEXHE
7. PERUOAO. ERE, BfaKE
WRR | BB K | tEHK | 5K | EEMBK | A 5t
X 4 FE | ot | o atnsmme| ainomm| sins | smem | srmam| sfr| sfsaE| e
ﬁﬁ%ﬁﬁku A | 271,784 | 268,523 00 319 7% |l 305 292| 272, 485| 269, 208
ﬁ*%ﬁﬁku B | 268,780 | 265, 555 00 319 7% | 305 292| 269,481| 266, 240
'E(E?‘ 128,428 | 128, 617 106 107 15 14 189 188| 128,738| 128,926
5K
J} WO | c 266,194 | 263, 065 292 291 68 66| 305 202| 266,859| 263,714
g & % |coal onow 9s.0% 91.3% on.2u| 89.5% 89.2%| 100.0% 100.08 97.9% 9s.0%
@k & % |[col 99.08 99.1% 91.3% on.2u| 89.5% 89.2% 100.0% 100.08 99.0% 99.1%
FH *f;g%ﬂ KB o9 53485728875, 736| 69,804 72,283| 61,938| 44,574] 20, 645| 37,971|29, 707, 244| 29, 030, 564
FH *f;g@g KB 1o 375,800 26,969,922 56,114 54,807 61,869 42,757 37,601| 32,467|27.531, 47827, 099,953
FH ?m”)y K& 26,246,318/25,905,249| 53,808 52,430 60,104| 41,486 35,762 31,066]26,395,992|26, 030, 231

X DH6FEREIEDKEEL (BHSFERED, 411m)
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1. BXRAKE

X 2

FERMAE | FHERKE | zppmie | sHeKkE |8 ¥ X

— (A) (B) (B)/(A)
o o o o %)
' B it K 0| 28,875,736 | 28,875,736 | 26,969,922 93.4
t % K 72, 283 0 72, 283 54, 807 75.8
5%t K 44,574 0 44,574 42,757 95.9
% OE K 37,971 0 37,971 32,467 85. 5
154,828 | 28,875,736 | 29,030,564 | 27,099,953 93.3
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(2) BOKERUMRKAOME (J357)

(N) (m)
20,00 - 150,000
25,00 \\ - 140, 000
280,00 Se| HkAD

\o\\\ 120,000
275, 000 \\
120,000
21, 00 \\
\ - 110,000
265, 00 N
100,000
20,00 | E| /\
- —H®xKEKE \\ o
—
2 v R . - 80,000
21 BEFE DFE FE
T el Rt FOU. i SHIEE SHBEE SHUEE SHSEE| SR
ok A O 285,424 | 283,654 282,162 | 279,971 | 278,474 = 277,419 | 275,111 269,690 @ 266,859 | 263,714
C A)
—a—
— B @ A| 98,05 94,063 95,743 95460 91,052 98,603 93,588 95,052 87,409 | 85,574
E% 7K ;E
m
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(3) AERKRUOFEA. HKFEH EFH) ALUICHERKE

0 22(mm)
J=2] B 13 20 25 30 40 50 75 100 150 &5 &t
% | e A iR
B B(P)|[1,025544| 487,393| 22,202| 8,973 6,222 4,070 689 186 48] 1,555,327
IE'% FERERE (M) |11,589,891(8, 992, 328| 750, 540| 659, 178]1, 080, 8021, 308, 546| 790, 804| 251, 486 438, 490( 25, 862, 065
1811 BERE(M) 11 18 34 73 174 322| 1,148 1,352 9,135 17
— FI == (=) 853 193 96 84 12 60 0 0 0 1,298
T35 = s
iﬂ}E{ FHEEREZE(m)| 6,982 5,422| 3,536 29,638 224 6,628 0 0 0 52,430
1711 BAERE(m) 8 28 37 353 19 110 0 0 0 40
T B OEE 24 24 48 12 24 36 0 0 0 168,
=8
{%]Q Eg FEEFERZE(M) 302 1,254] 1,006 2,482] 7,560 28,882 0 0 0 41, 486
1811 BERE(M) 13 52 21 207 315 802 0 0 0 247
- E R HE)| 1,908 246 36 24 12 36 0 0 0 2,262
TRRE
iﬂEE{ FRERZE(mM)| 17,854 3,144 256 196 968| 8,648 0 0 0 31, 066
A 1711 BAERE(m) 9 13 7 8 81 240 0 0 0 14
E A #(F)|,028,329 487,856 22,382 9,093| 6,270 4,202 689 186 48] 1,559, 055
I
§J FREMERE () |11,615,029(9, 002, 148| 755, 338| 691, 494|1, 089, 554(1, 352, 704| 790, 804| 251, 486| 438, 490( 25, 987, 047
[=]
1811 BERE(M) 11 18 34 76 174 322| 1,148 1,352 9,135 17
F == (=) 47 60 36 0 0 12 0 0 0 155
*E'% FRERZ(M)| 8,200 17,992| 7,052 0 0 9,940 0 0 0 43,184
/A i_mlz y y y y ’
3 171 n BAERE(mM) 174 300 196 0 0 828 0 0 0 279
IN
a
5 E R OB 47 60 36 0 0 12 0 0 0 155
Al —
S | FRIERE ()| 8,2000 17,992) 7,052 0 0| 9,940 0 0 0 43184
[=]
1711 BAERE(m) 174 300 196 0 0 828 0 0 0 279
HE B B(FE)|1,028,376| 487,916] 22,418]  9,093| 6,270 4,214 689 186 48[ 1,559,210
=) S| ERMEREZE () |11, 623,229]9, 020, 140 762,390] 691,494|1, 089, 554(1,362, 644| 790, 804| 251,486| 438,490 26,030,231
1810 BERE(M) 11 18 34 76 174 323 1,148 1,352] 9,135 17

KARBGRAISBEEE D

X1R1H BERAE(m)=-FRERE (M) /EFH(F)
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(4) ERERHEKFE EFRE) KRUERKE

[)5%5( P
B I KE:m
g Lags = A U] A
e z |2 | R E | B P Y | w2l m| ]| e
° $ ﬁ IJ\ e E"J 0] %\S :/\
I\ == » i 7
I ?% I A = E = =
X | E 4 ke o 7 =
s X R ol | x| | e | B 2 | B | L | w | K| B R
EEH| 1,436,345 4,573| 16,146 40,116 5,027| 14,488 28,71 5,601 2,641 1,67 8 155] 1,555,482
BEMX
gﬁﬁ 19,775,388|  473,850] 668,250] 592,438] 752,610] 451,668] 2,151,838 697,578 283,588 14,532 325]  43,184] 25,905, 249
EFRE 903 12 120 36 0 1 216 0 0 0 0 0 1, 298]
THMX
EFFEL 12,254 0 8,876 274 0 18 31,008 0 0 0 0 0 52, 430)
(Ed=2=s
HEFE 24 0 24 0 0 0 120 0 0 0 0 0 168
EEiX
{g‘% 706 0 4,468 0 0 0 36,312 0 0 0 0 0 41,486
EFEL 1,947 24 192 36 24 0 18 12 0 9 0 0 2,262
TREEMX
gﬁgi 20,432 310 9,094 34 2 0 968 214 0 12 0 0 31,066,
==}
%ify 1,439,219 4,609 16,482 40,188 5,051 14,499 29, 065 5,613 2,641 1, 680 8 155| 1,559, 210
: 3
fEFE | 19,808,780 474,160 690,688 592,746 752,612 451,686 2,220,126 697,792 283,588 14,544 325|  43,184] 26,030, 231
(B)
EFE 92.3 0.3 1.0 2.6 0.3 0.9 1.9 0.4 0.2 0.1 0.0 0.0 100
1 R th
(%)
fERE 76.1 1.8 2.6 2.3 2.9 1.7 8.5 2.7 1.1 0.1 0.0 0.2 100
EFE 119,935 384 1,373 3,349 421 1,208 2,422 468 220 140 1 13 129,934)
158
o3
fEAE| 1,650,732 39,513| 57,557 49,396 62,718 37,641 185,010 58,149 23,632 1,212 27 3,599| 2,169,186
1’:'(15?1%%@ 13.8 102.9 41.9 14.7 149.0 31.2 76.4 124.3 107.4 8.7 40.6 278.6 16.17
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(5) #aKERRU - BEILHEHEB (T 5D)

(#50)
20, 000
18, 000 17“,843 17,604
16, 000 -
14,000 -
o$is% - B
12,000 -
8 A
10, 000 a8k - BELE
8,000 -
6,000 -
4,000 -
2,000 F
LR TR TR TR n
SHREE  SIBEE  SHUEE  SISEE SHEE
SH6FE HMXBIKGKERARUK - BEIEEAMFEL
(841 : 1)
] _ _
BEHK | THHR | SBHK | REHK 5t
FAR
#e% - B 1,305 1 0 0 1,306
f£ A %
B A 15, 873 13 0 1| 15, 887
=) 5t 17,178 14 0 11 17,193
7 B L8 17,018 11 1 3| 17,033
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(6 )FRRERIKFERUERKE (357)

7 HaKFE 1 (ERKE

Al
- \ERE_0.4%

0. Z0it
BN - N 0.1% _
Eﬁﬁ; 2t - BN
. 2.3%
ﬁ]ggﬁ DR

: 0. 0% A

A = B )

2it - B BBk ey

2. 6% 0. 0%

(7) KEMEEUNE D HIREHE (57)

EmLRED
13,764#?1_9%

Mo
171, 0691

A i {5
T34, 2574

O EE ik &
549, 42444
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